A—MFTEBE (1/3)

B 1R
t3.0

&

T

-~

it ”

[—30x% 6x 6x 405% 12.3

fi-FfL- W=
$114.3xt4.5

EUEYR

j M10x 35

B-BEEEEE (1/3)

500 4000 4000
DB—-4-GR
BRH—FL—-N
— _:_: - - T /)= P
J— — ::——::li S — Y e %E—-g
J — - - —— == —1 | -
N e — e s i i e— ]
oM O [ + S
©
| ek L iR |
| | t3.0 | ]
355 3@400+4+342.5+45+342.5+35@400 355
80 (80
BEHeE (1/10)
4000 4000
S _ -
—— — — 7t —I— - - S —
b FEREI -
I B R - - - - - - - - T -/
B ] |
M ) AN BN B Y E -]
T - N o 3425 45 3405
| | @400 .
___:_|_|_||____ / / e s S B ———
g = =g —— e
4 n | =) Z [ = }%H Byt b b Z
A —p &/ 8 M
Ol W 0 - 4
ST N O P & i)
| L M10x 35 MM
= h[ [ 1 3 fﬁﬁ\
o T — / T 1
i _TL___:_\_____}L _k______:___%__ _____ — ___t______,l__,/:m.uuuLA___ _____ — Y —_—
Rk LE IR \\ B B R ol R TL— b
t3.0 L-50x50x1t4.5 M8x 50 5 PL-75x315x13.2

Vs

it »
[—30x 6x 6x 405x 2.3
B
t3.0 \
\ L\
3 2|3
Y s
(SUS) wETL-+
AL b PL—75x315x1t3.2
M8x 30
e B B 2
MR | RUA-Fx- b t3.0
B # SGH400 B - & +HEMEER
it » SGH400 B & +HHENREE
Bty k SGH400 B> & +HERMEER
maATL - b SGH400 B> & HHEMEER
AR b 46185 BRERD> & M10x 35
Bff A L b SUS M8x 25(U—+v 1)
Bff A L b SIS M8x 30(U—+v 1)




